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L.O. I can check calculations.2) A bag of sweets has 8 red sweets and 3 yellow sweets






[image: ]1) Draw counters to represent each calculation. 	Is Eva correct? ______________________
Draw a picture below to show how you know.












	3) Use your 10s frames to check these calculations.
Tick the correct calculations. Cross the incorrect calculations.

a) 9 + 8 = 16
b) 20 – 9 = 13
c) 12 + 5 = 18
d) 3 + 13 = 16
[bookmark: _GoBack]
Can you write the correct calculations in your books and the inverse too?
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0 Draw counters to represent each calculation. @
a) 13+3=16

Is Dora correct?
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Is Dora correct?

0 Draw counters to represent each calculation.
a) 13+3=16

Draw a picture to show how you know.

b) 4+9=13
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@ circle the calculations that can be used to
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